wEEsT—E HE2AIEI A e TR TR 2
ZFE AT AFITEAEG A 16 H
AbIE B LNENiCH

1= &g Group 1
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T 6A [ 7T 7A | TEC  ATH Total
I S WY - D (7.8) (7.6)| 7.8 7.8 7.8 8.0|[(7.6) 7.8| 7.6 (84 16.24 17.08 23. 32
2 | RHS s == S (7.2) (71.0)| 7.6 7.4 7.4 7.4|7.6 (7.6)[(7.8) 7.4 15.82 6.66 22. 48
S PN 74 A ZF 7.4 7.2 7.4 7.2|(7.0) 6.8 7.4 7.4[@B.0) (7.8 15.54 6.54 22. 08
4 [ARRE BR4 NyH A LA 7.2 7.2(7.2 (1.0)| 7.6 7.6 |(7.0) 7.2 |(8.2) (7.8) 15.4 6.6 22.0
5 |FI =& VN AvE (7.0) (6.8)] 7.2 7.4 7.2 7.4]7.2 7.2](7.6) (7.6) 15.12 6.6 21.72
6 B Nyt A 2 A 7.0 (1. 7.0 7.0 7.0 7.2 |[(7.2) 7.0[(6.8) 7.0 14.7  6.36 21. 06
7[R M I gEA (6.8) (6.6)] 6.8 7.0|6.8 6.6|6.8 6.8](6.6) (7.2) 14.28 6.12 20. 4

1[o] B Group 2
JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
1 |EA % ey yEA 7.8 (7.6)|(8.0) 8.4| 7.8 7.6|(7.6) (8.6 7.6 7.8 16.24 7.14 23. 38
2 |WEx K EKXK NI A (7.0) (7.0 6.8 6.8 [(6.2) (6.4)[ 7.0 7.0] 6.6 6.6 14.28 6.12 20. 4
3 |EA A Nyt A XA 7.0 6.8 |(7.2) (7.0)[(6.4) (6.4)| 6.4 6.6 7.0 6.8 14.28 6.06 20. 34
4 |PREF FE NI A (6.8) (6.6)] 6.6 6.4 [(6.0) (6.2)[ 6.0 6.2] 6.4 6.6 13.3 5.76 19. 06
5 |Erit MEA NI A (6.6) (6.6)] 6.2 6.2 ](5.8) 6.4 5.8 (5.6)] 6.0 6.2 12.6 5.64 18. 24
6 |dbr @ (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0]0.0 0.0 0.0 0.0 0.0

1[5 Bk Group 3
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 |AfRHE HE VNS AvE 7.6 7.6 [(7.4) (7.4)](B.0) (8.4)] 7.8 7.6|7.8 7.8 16.24 6.9 23. 14
2 |ME)I B A 7.8 7.6 7.6 (71.0)[(7.2) 7.8 7.4 7.6 [(8.0) (8.4) 15.96 6.9 22. 86
3 |HirEF 2R VN AV (7.6) 7.4 |(7.0) (1.2 7.6 7.2|7.2 7.2|76 (7.6) 15.68 6.54 22. 22




ERFM—E
t%ﬂﬁlkﬁ? BHICE6 A 16 H

LIRS TR EGIRERE
4 A Nyt A2 A 7.2 7.0(7.2 (6.6)7.4) (7.49[6.6) 6.6 7.4 7.2 15.26 6.24 21.5
5 |t #H NI A (7.4) 7.21(6.8) (7.0)] 7.0 (7.6)| 7.0 7.2 7.2 7.6 14.84 6.6 21. 44
6 |FeiE HEAE Frhy (7.2) (71.2)|(6.8) (7.0)[ 7.0 7.2[6.8 7.0]7.0 7.0 14.56 6.36 20. 92
T |%m Fi NI A (6.6) (6.6)] 6.4 (6.2)] 6.4 6.4[(6.2) 6.2 6.4 6.4 13.44 5.7 19.14

1[E] & Group 4
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T  4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 |ihn =k NS AVE =t (7.8) 7.6 7.6 (8.6)| 7.6 7.8|7.4 (7.0)](7.0) 7.2 15.82 6.78 22.6
2 Ve B NyH A LA 7.4 7.4(6.2) B0 7.4 (1.2[(7.2 72|74 7.6 15.54 6.66 22.2
3 |EhR (EE T IEA 7.2 7.0[(7.6) 7.2((6.8) 7.0[6.8 (6.8 7.4 (7.4 14.98 6.36 21. 34
4 | R ERE DAV (7.2) 7.0 ](6.4) (6.8)] 7.2 (7.49)] 6.8 6.8 7.2 7.0 14.84 6.24 21. 08
5 |ZHE <56 VN A (6.8) (6.8)] 6.8 6.8 6.8 6.8](6.4) (6.6) 6.6 6.6 14.14 6.06 20. 2
6 |kl < T UEA (6.4) (6.4)] 6.0 (5.8)|(5.8) 5.8|5.8 6.0]6.0 6.0 12.46 5.34 17.8
1[5 B Group 5

JEAE 4 Hif ¥4 IT 1A | 2T  2A | 3T  3A | 4T  4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
1 [TH #FR Nyt A XA (8.0) (7.8)|(7.6) (7.4)| 7.6 7.6 7.8 7.8|8.0 7.8 16.38 6.96 23. 34
2 |HEE ARG T yEA (7.6) 7.2 | 7.2 (7.4 7.2 7.2[7.2 (6.8)](@®6.8 6.8 15.12 6.36 21. 48
3 |ME B Fr v (7.4) (71.2)| 7.4 7.2 |(6.6) (6.6)[ 6.8 6.6] 7.2 6.8 14.98 6.18 21. 16
4 s —4E NS AVE (6.0) (6.2)] 6.8 6.6 |(7.0) 7.0 7.0 (7.2)| 6.8 7.0 14.42 6.18 20.6
5 |FHJI A NS AVE (6.8) (6.4)|(7.0) (6.8)] 6.8 6.6 7.0 6.6 7.0 6.6 14.56 5.94 20. 5
6 |KJI H¥F Frhy (7.6) (7.2)] 7.0 6.8 6.4 (6.4)[(6.2) 6.6| 7.0 6.6 14.28 6.0 20. 28
7O\ LEE P Ay (6.2) (6.2)|(6.4) (6.6)] 6.4 6.2|6.4 6.4]|6.4 6.6 13.44 5.76 19. 2




wEEsT—E HE2AIEI A e TR TR 2
ZFE AT AFIEE6 A 16 H
LIRS TR EGIRERE

[ Group 6
JIE {57 4 Hi i IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T 6A [ 7T 7A | TEC  ATH Total
1 |#@E W AT UF (7.6) (7.4)|(6.8) 7.4 7.4 7.4|7.6 (7.6 7.0 7.4 15.4  6.66 22. 06
2 |ME 25 T3 7.4 7.2 7.4 (1.6)(7.2) (1.0)| 7.4 7.0 [(7.6) 7.2 15.54 6. 42 21. 96
3 [AnF AR VNS AvE 7.2 7.0 |(7.4) (7.6)|(7.0) (6.8)] 7.0 7.2 | 7.4 7.2 15.12 6.42 21. 54
4 |PHE EBERZE A 6.6) 7.216.8 (7.0)|(7.2) 7.2 | 7.0 7.2|7.2 (7.6) 14.7 6.48 21.18
5 |IAH EH VN AvE (6.4) (6.6)] 6.6 6.8 ](6.8) 6.6 6.6 6.8]6.8 (7.0 14.0 6.06 20. 06
6 |OtEE A H (0.0) (0.0)[€0.0) (0.0)[ 0.0 0.0]0.0 0.0[0.0 0.0 0.0 0.0 0.0

1[o] B Group 7
JEAL 4 Hi ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
A B AT (7.6) 7.4 7.6 7.6|(7.4) (7.2)| 7.4 7.4|7.6 (7.8 15.82 6.72 22. 54
2 R4 VR Y (7.4) (7.2)| 7.0 6.8 7.0 7.0]7.2 7.2](6.6) (6.6) 14.84 6.3 21. 14
3 xR P NI A (6.6) (6.8)|(7.6) (7.4)| 7.2 7.0|6.8 7.0|6.6 6.8 14.42 6.24 20. 66
O 7 NIRIEZS Nyt A2 A 6.6 (6.4)](6.4) 6.6]6.6 6.4|(7.2 6.8|7.0 (7.2 14.14 5.94 20. 08
5 [AALE gk NI A 6.4 6.66.6 6.4[6.6 6.4[(6.0 (6.2)[(6.8 (7.0 13.72 5.82 19. 54
6 | L EK NS AVE (5.8) (6.0)|(6.4) 6.4]|6.2 6.0|6.2 6.2|6.4 (6.6) 13.16 5.58 18.74

[ Group 8
JIE {57 4 Hi i IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 |[EE #hE NyH A LA (8.2) 8.0((7.8) 8.0|7.8 80|78 (7.8)] 7.8 (8.2 16.38 7.2 23. 58
2 |fEH K BT gEA (8.0) 8.2)[ 7.6 7.8|[(7.4) (7.6)] 7.6 8.0 7.8 8.0 16.1 7.14 23. 24
3 |BIE WHE VN AV 7.4 (1.6)|(7.2) (1.4)[(7.6) 7.6 | 7.4 7.6|7.4 7.6 15.54 6.84 22. 38
4 |BhH Vg T IEA (7.4 (1.9 7.4 7.2 7.4 1. 7.4 71.2(7.2) 7.4 15.54 6.54 22. 08




fERFFH—F A A T S TR A KA
ZFE AT A FITEAEG A 16 H
LR B i AR A A
5 |EH  HH NI A 6.6) (1.0)|(7.6) (7.6)| 7.4 7.6 7.2 7.2|6.8 7.0 14.98 6.54 21. 52
6 | 1E AT 7.0 (6.8)] 7.0 (7.2)| 7.0 6.8 |(6.6) 6.8 [(7.4) 7.2 14.7 6.24 20. 94
2 [|] &, Group 1
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
I S S WY - N (8.0) (8.0)|(7.8) 7.8 7.8 7.8[7.8 7.8]8.0 (7.4 16.52 17.02 23. 54
2 WA 2 A (8.4) (8.6)[ 8.0 8.0 7.6 (7.6)] 7.6 8.0[(7.2) 7.6 16.24 17.08 23. 32
3 |IRM B4 ==/ R (7.6) (7.6)|(7.2) 7.2 | 7.4 7.2|7.4 7.4|7.4 (7.0 15.54 6.54 22. 08
4 PR RS =—A K (7.6) (1.4)|(7.0) (7.0 7.2 7.2|72 70|72 7.0 15.12 6.36 21.48
5 KW bz ==X R 7.4 72|70 (7.9[(7.6) 7.2|7.0 7.0]|6.8) (6.8 14.98 6. 42 21.4
6 [EBA A =—/3A K (6.6) 6.6 [(6.8) 6.6 6.6 (6.4)] 6.8 (6.8)| 6.6 6.8 14.0 6.0 20.0
7 xRk EK Ea = (6.8) 6.86.6 6.6[(6.4) (6.4)] 6.6 6.8 6.6 (7.0) 13.86 6.06 19. 92
8 |tREE R T (6.2) 6.4 ((6.6) 6.4]|6.4 6.4]6.6 (6.6)]6.4 (6.2 13.58 5.76 19. 34
2 [a] Bk Group 2
JEAE 4 Hif ¥4 IT 1A | 2T  2A | 3T  3A | 4T  4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC ATH Total
1 |lin #x BT ay (7.8) 8.0)[(8.0) (8.0)[ 8.0 8080 80|7.8 8.0 16.66 7.2 23. 86
2 |MEI SR S 7.6 7.6 (7.4 7.4 (7.8 (1.8)| 7.6 (7.2)[ 7.8 7.8 16.1 6.84 22.94
3 &M R A (7.6) 7.4 7.6 7.4|7.6 (7.6)[(7.4) (6.8)| 7.6 7.4 15.96 6.66 22. 62
4 |ARHE HE& e 7.4 (1.4)[@.6) (1.6)| 7.6 7.4|(7.2) 7.4|7.6 7.4 15.82 6.66 22. 48
5 [fH%F SR T E (7.0) 7.4 7.2 (1.0)|(7.6) (7.6)| 7.4 7.2|7.6 7.4 15.54 6.6 22. 14
6 o =R 7.2 7.2(70 6.8|7.2 7.2|6.8) (6.6)](7.4) (7.4) 14.98 6.36 21. 34
T =W R Tt (6.8) (6.8)[ 7.0 6.8[(7.2 (7.2)] 7.0 6.8|7.2 7.0 14.84 6.18 21. 02
8 | BRI =i (0.0) (0.0)](0.0) (0.0)] 0.0 0.0 0.0 0.0[0.0 0.0 0.0 0.0 0.0




fERFFH—F A A T S TR A KA
T FE A2 A FnoeAE6 A 16 A
ElIN=T1] ENENiCH

2 [B] B Group 3
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T 6A [ 7T 7A | TEC  ATH Total
1| TH ¥FR Y LT a—nA 7.6 7.6 7.4 (7.8)[(6.6) (6.6)[ 7.4 7.6 [(8.0) 7.6 15.68 6.84 22. 52
2 |mE W == 3R (7.2) (1.2)[6.6) 7.0 7.0 (6.4 7.0 7.2|6.8 7.2 14.56 6. 42 20. 98
3 | Ef&sE S = 6.6 (6.6)] 7.0 6.8 (6.4 7.0 [(7.2) (7.2)] 7.2 7.2 14.56 6.3 20. 86
4 |FHE SRE Ea = (6.8) (6.6)[(7.2) (7.2)| 6.8 6.8 7.2 7.0[6.8 7.0 14.56 6. 24 20. 8
5 |dniy MEE NIy ay 6.4 6.8|(7.4) (7.2)|(6.2) (6.4)[ 6.4 6.6 6.6 6.8 13.58 6.06 19. 64
6 |MH A% J— T — 6.6 6.4](7.2) (6.8)|(6.0) (5.6)[ 6.2 6.2]6.6 6.4 13.58 5.7 19. 28
7 (Mm A NN T T (7.0) (7.2)[ 6.2 6.6 [(5.4) (5.4)| 5.8 6.0 6.0 6.0 12.6 5.58 18.18
8 | —7E Ea = (0.0) (0.0)[€0.0) (0.0)[ 0.0 0.0]0.0 0.0[0.0 0.0 0.0 0.0 0.0

2[0] B, Group 4
JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
1 |2 BhE =R (8.00 8.4 8.0 82|80 8072 (7.27.6 8.0 16.52 7.26 23.78
2 |WaH K T 7.8 7.8[7.4 7.8[(.0) (82]((7.0 (7.2 7.4 7.8 15.82 7.02 22. 84
3 |BIR WfE NI Uvavy 7.2 7.4|7.6 (7.8)[(7.8) 7.8[(6.2) 6.4] 7.0 7.4 15.26 6.78 22. 04
4 |5 B =R (7.6) (7.6)| 7.4 7.6 7.0 7.2|6.8 (6.8 7.2 7.4 15.12 6.66 21.78
5 |8km s SV 7.2 7414 7.4(7.4 (1.6)[6.0) 6.2)[ 7.0 7.2 15.12 6.6 21. 72
6 [P A VR T r (6.6) (6.4)](6.8) (7.0)] 6.8 6.6 6.6 6.6|6.6 6.8 14.0 6.0 20.0
TR LE =R 6.0 6.2[(6.6) (6.8)[ 6.6 6.4([(5.6) (5.4)] 6.6 6.4 13.44 5.7 19. 14
8 xR P v 6.4 6.2 6.6) 6.4 6.4 6.4((5.4) (5.2)[ 6.4 6.2 13.44 5.64 19. 08

AE R RS

Group 1




fERFFH—F A A T S TR A KA
ZFE AT A FITEAEG A 16 H
ALIE B ENENiCH
JIE {57 4 Hi E_4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1 |ilhn #x AT ay (8.4) (8.0)|(7.4) 8.0|7.6 80|7.6 (7.8 7.6 8.0 15.96 7.2 23. 16
2 |AF O AR yyay |(8.0) (1.6)] 7.6 7.6 (7.4 (1.0)| 7.4 7.4|7.8 7.4 15.96 6. 72 22. 68
3 |MI B oy F 7.6 (7.6)[(6.6) (6.6)[(7.8) 7.6 | 7.6 7.6|7.4 7.4 15.82 6.78 22.6
4 |fEA B AP (7.4) (1.9 7.4 (71.8)| 7.4 7.6 |(7.6) 7.6 | 7.4 7.6 15.54 6.84 22. 38
5 |ARH HE HHh Y (7.00 (7.0 7.2 7.0 7.2 (7472 71.2|(7.4) 7.2 15. 12 6.42 21. 54
6 |AM B4 FxHo¥I77—%rr7—16.8 6.6|6.6) 6.2)] 6.8 6.6|(7.2) (7.2)] 7.2 7.2 14.56 6.12 20. 68
TO[EE R A== g (6.6) (6.4)] 6.8 6.4 7.2 6.8|(7.4) (7.4 6.8 6.8 14.56 6.0 20. 56
8 |&=vE  fEAE T (5.00 5.0(.0) 5.00[ 5.0 50|50 50]50 50 10.5 4.5 15.0
HE R Group 2
JEAE 4 Hif ¥4 IT 1A | 2T 2A | 3T  3A | 4T 4A [ 5T 5A [ 6T 6A [ 7T 7A [ TEC  ATH Total
1 |2 BhE Fy Y77 —%r7—|(8.0 (84|80 (7.8)[(8.2) 80|80 80|80 7.8 16.8 7.14 23.94
2 |fEH 2K e Hhy (8.6) (8.4)| 7.8 8.2|7.8 (7.6)|(7.4) 7.6 | 7.8 8.0 16.38 7.14 23. 52
3 |FH MEH A A P (8.2) 8.0 7.6 7.6|7.6 (1.2)[(7.4 76|74 7.2 15.82 6.72 22.54
4 I B FxLrvIr7—HFrr—|(1.4) 7.27.2 (1.49[7.0 6.6)|7.2 7.4][6.8 7.0 14.98 6.48 21. 46
5 |RIF #fE vV A (7.4) (7.8)|(6.8) 7.0 6.8 (6.6)] 6.8 7.0 7.4 7.2 14.7  6.36 21. 06
6 |FEE ARG e yEA (7.2) (7.0)|(6.6) 6.8 6.8 6.8[6.8 7.0]|6.6 (6.6) 14.14 6.18 20. 32
6 |iE Fi FxH X7 —%rr—|(7.0) (7.2)] 6.8 6.8 6.8 7.0/|(6.4) (6.6)] 6.6 6.8 14.14 6.18 20. 32
8 |BtE H&EE N (7.6) (7.4)] 6.4 6.8 |(6.2) 7.4|6.4 (6.6)]6.8 7.4 13.72 6.48 20. 2
3L iR TE B Group 1
JIE {57 4 Hi B4 IT 1A | 2T 2A | 3T 3A [ 4T 4A [ 57 5A [ 6T  6A [ 7T 7A | TEC  ATH Total
1| TH ¥FR NR—TF =1 (7.0) 7.4 (8.2 (8.0]82 80|78 7.6|7.2 (7.2 16.24 6.9 23. 14




Fo SR el — &
T E AR

= IN =055 NN
2 |&k 0ME T F (7.8) (1.6)|(7.6) (7.4)| 7.6 7.6 | 7.6 7.6| 7.6 7.4 15.96 6.78 22.74
L S =i W
33 iR TE B Group 2

JIEA £ Hi ¥ 4 IT 1A | 2T  2A | 3T  3A | 4T  4A | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
1 [fEm o K A (8.0) 8.6)] 7.8 8.0 |(7.2) (7.4)| 7.6 7.6 7.6 8.0 16.1 7.08 23.18
2 M1 5ESE e h o 7.4 (71.8)|(7.6) 7.4 ((6.8) (6.8)| 7.2 7.2|7.2 7.4 15.26 6.6 21. 86

-, K72\ Y 4 [N

R B B
JIEAE £ i e 4 IT 1A | 2T 2A | 3T  3A | 47  4aA | 5T  5A | 6T  6A | 7T  7A | TEC ATH Total
1 |2 BE Fyrr¥Fr—Hrr—| 7.8 (7.6)] 8.4 8.0|@®.6) B.4|[((7.6) 7.8|8.4 8.4 17.22 7.26 24. 48
2 [ibp =k B A (7.6) (7.4)] 8.0 7.6 /(8.4 (8.2)] 8.0 80| 7.8 7.8 16.66 7.02 23. 68




